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Q:-1. If (5a-3b):(4a-2b)=2:3, then a:b is equal to:
Yq (5a-3b):(4a-2b)=2:3, dl a:b dRTdX %:

(/f /555 ) (A)3:4
\No'SF [ (B)2:3
(C)5:8

(D)5:7



to:

Q:-2.Ifa:b=3:2, then (5a + 2b) : (3a + 4b) is equal

gfEa:b=3:2,dl (5a2b): (3a 4b) P SIS 8:

(SCHpY (A)16:15
(B)8:7
(C)19 17

(D)17:14



‘ Q:-3. What is the ratio of the third proportional to 0.4 and 0.8,
to the mean %;oportional between 13.5 and 0.24

0.4 3R 0.8 T JAATIUTCH TYUT 13.5 3R 0.24 & HATIUTAT B
9 BT GUTd T 8:

)1 (A)5:4
(B)7:8
(C)8:9
(D)9:10



‘ Q:-4. Find two numbers such that their mean proportion is

12 and third proportion is 768.

T S TBATE UdT $e, ot A1t 3ruTd 12 8 SiiR gig

3UTd 768 B?

(A)3 anc
(B)3 anc
(C)6 and

(D)6 and

24
48
48
24



Q:-5. A bag has Rs. 20 in the form of 1-rupee, 50-paise and
10-paise coins in the ratio of 2:3:5. Find the number of 50-
paise coins ?

TP S H 2:3:5F U H 1 9., 50 U 3fiT 10 U & &9 ¥
20 %. €1 50 U & Ryad] &t |- udl H3?

(A)25
(B)10

(C)15
) (D)5



Q:-6. x and y are two numbers such that their mean proportion
is 9 and third proportion is 243. What is the value of x and y?

x 3N y O} & T= & Rrept \1ed SruTd 9 ® 3R gt srurd

243 B x 3R y BT HH T 87

(A)3 anc
) (B)3 anc
) (C)6 anc

(D)6 anc

21
217
81



Q:-7.If a: b = 2:3 and c: b=5:6, then a: b: c is equal to :
ﬂﬁab 233‘ﬁ?'cb 56% a:b:cdiA

TN (A)4:6:5
Ro\eu) 1) (B)6:9:16
| (C)6:9:12

(D)10:15:18



Q:-8. What is the ratio of mean proportional between 1.8 and
3.2 and the third proportional of 5 and 3?

1.8 3R 3.2 & dg T AU 3fi¥ 5 3R 3 HT Jailg
3T BT SUTd T G2

(A)3:5
(B)4:3
(C)3:4
(D)5:3

| .
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:-9. Rs. 11,550 has to be divided among X, Y & Z such that X
gets 4/5 of what 'Y gets and Y gets 2/3 of what Z gets. How
much does Z get over X (in Rs.)?

11,550 7Y &I X, Y 3MR Z A 59 =g Fic fb X B Y BT 4/5
3R Y DI Z BT 2/3 HIT fAe | Z H) X A foraar siftres v
=qg H) faem?

, 5 (A)7200
(7 A (B)1800
\No'EY /) (C)1359

(D)2450



Q:-10. Two numbers are in the ratio 3:5. If 13 is subtracted from
each, the new numbers are in the ratio 10:21. If 15 is added to
each of the original numbers, then the ratio becomes:

&l Y=Y 3:5 % UId A g | fc Ud® A ¥ 13 Y] 91, df 13
HWT 10:21 & SUTd H UTW i<l 8 afe g S@msi d 15 s fear
ST, df SESAT3M & I SUTd T 1 SITEIT?

\Ro'= [~ (A)24:35
(B)23:33
(C)5:7
(D)4:5



Q:-11. How many job applicants had applied if the ratio of selected to
unselected was 19:17. If 1,200 less had applied and 800 less selected,
then the ratio of selected to unselected would have been 1:1.

ﬁﬁ%mmﬁwﬁm%\mﬁa——rmm gfe Tafad ik IR-
TR 3TAeHT F I BT SUTd 19:17 AUTI TS 1,200 HF AASH!

ﬁaﬁﬁmmaﬁvsoomwgﬁmﬁ N Tafia 3R K-
TAId 3TdGd] & oI DT SUTd 1:1 BTl

(A)6000
(B)7200
(C)8400
(D)4800






